RISEE ZTHPER HTEFPER (EEZVOFEDND, ERIIEENHYET )
4R 5AH 6A 7H 8H 9A

B | & ERTEE B | B ERITEE B | BE ERITEE =N ERITEE B | E ERITEE B | BE ERITEE
1| £ 1| B 1| & |megsunt) mea=xo | 1| + 1| % 1| & |77 kst aREE ZATX
2| B 2| k |EESLEE FRam T 9 & |xmwRKESXSR 2| B 2| ik 2| £

3 3 K 3| & |x=HERESFKE 3 3| K 3| H

4 K 4| K 4| B 40 K 4| & 4

5[ K 5[ & 5 REFMEES 5| K |[gkTRM KEZEMEES 5| & 5| K

6| K |G TROM 2oFEIv=I gl £ 6| ko |[7—nimm 6| K |[mxrzre 6| B 6| K |ovEso wErswsEE
1| & |EREEen M| 7) B 7| K [-rmEmFma Svwmo 7| & |%= 7 7| &

8| & 8 8| K |RizaE=%R@ 8| = 8| X |4 8| & |BLEOER

9| H 9| K |EBMZEAES 9| & |bLEoEH £% 9| H 9| Kk 9| £ [wEXRZ

10 HBERE WALKINER 10| 7K |BL&oEE TvkHnD 10| * |REHRESKS (FK) 10 HLEDOEE 10| K 10| H |#BEX2FHE

11|k [2ReT2-35)D 11| K |®R&EQ 11| B |Z=thEESASTFHA (FH) 11| % |eTEC(3%) 1| & 11 rEASKIKE

12| 7K |[B®KRiT(2-350)Q@ 12| & |##E1 £2HARE) 12 SEERM(~168) 12| JK |Bfli<o BESAERSE (34) 12| £ 12| X

13| K |E$%kiT(2:35)0Q 13| £ |+=HREFSKE 13| X 13| K |WBHRPE GH) 13| B 13| /K |7vH#kn KkEHMEES
14| & 14| H 14| JK |EHTFRFEE 14| & 14 14| K

15| &= 15 BEIETHE 15 K |dER26:40 15 = 15[ X |v 15| & |%£=

16| H 16 & 16| € [Fvu72B@@15%1) 16| H 16( 7K 16| £

17 BHARITE(8:40) 17| 7K |+EFzrx JvEskO 17| L |R=RESKLFHD (FHK) 17 17 K 17| H

18| X iﬁ?ﬁzﬁfggiﬂf%%?ﬁ 18| K |RBREQ® 18| H |Z=HREZFRETFHE (Fi) 18| N |=&@E#1 18| & QEMJ?#’E%EX%@%E‘E:) 18

19| /K |7v&%n KREMZEES 19| & |[HL&0ED 19 Fr7EE Q@15%2) 19| /K |=#@H*2 19 £ 19| K

20| K |[Bueomn 20 + 20| sk (BLSTEM FWTERQEOT) 50 K (Bognen HMERSLITE 20| B 20| Kk |vzsn suaomEn
21| & |&% 21| H 21| K |[k=EMEES 21| & |FHitkEEas Bk (&) 21 21| K

22| = 22 22| K 22| = 22| X v 22| &

23| B 23| 23| & zﬁnm-mwg@@wm | 2| B E?(Eﬁk) 23| 25]43#?2{2&%1(%‘% 23| +

24| A |zEsmcan 24| Jk [ZEIART TYRAR RREM o) £ u |+ ' 24| K 24| H©

25| X |wmmmMER) 25| K | T A (1300 B | 95| g 25/ Kk 25| & " o2

26| K |G R CAVEREEAMEN 26l & 1BE Lans 26 26| 7k 26| + 26| K |rE®MZAZ

27| K |zEBmERE) REED 21| & [FZESPTAMRERSEEE | o7 u 21| K 27| B 27| K |[pvmmo zmEm-—#snm
28| & |z 28( H 28| JK |BakTRrER AEREEE) 28| & 28 28| K

29| = 29 29( K 29| = 29| X 29 &

30| H 30| h |E#Ews 30| & 30| H 30| Xk 30 FABREZ MR AR

31| Kk [7v=Esno 31| B 31| K |ZHATRFOD)




